A & O &8 A & Ml M
20172 =0l &k LA FXZADIEE
SA: BEZADIEG
MM HETA ZH
oot BEAY R4 (el @2)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
FXRE A2 E 3,666,584 3,469,527 197,057
Xl 1,643,500
AlHI 410,250
T8l 1,612,834
BEEEAN XH 3,601,855 3,406,965 194,890
Xl 1,643,500
Al'HI 410,250
T Hl 1,548,105
qrde |4 658,723 672,457 A13,734
gogg et 20,440 19,740 700
201 2Bt Yl 13,200 12,500 700
01 AtR 22l | 12,500 12,500 0
o¥zotztual =29 7,000,000& 7,000
OFogg AMzdE Tz M 3,000,000& 3,000
OFXAHOUIOE =S4 2,500,000& 2,500
02 s3=gHl 700 0 700
O Al2ZE e (UEA) Ealtl 700,000& 700
203 YR =AYl 2,000 2,000 0
03 Al FTPR=AHI 2,000 2,000 0
oFoAgeg g2F4 2,000,000& 2,000
303 L&z 5,240 5,240 0
01 24= 5,240 5,240 0
OXNAaHE AW Ala 1,000,000& 1,000
OHOAPY MY 29 ST MY
30,0003 x4 #23] 240
OFXAHCOIES #IXIOHZ 200,000& 20 4,000
228 0Es 2 486,077 503,485 A17,408
101 @124 bl 191,385 171,375 20,010
04 DIt 22 XS+ 191,385 171,375 20,010
OZd=3a0tse 28 22X 191,385
el 24l 65,670 «6 B 27 L 128 127,663
el A | 65,6703 «6H x27 L x4 & 42,555
=S 282 170,218,000 & *4.5% 7,660
=AY EEE 170,218,000 *3.035% 5,167
nE8gs 170,218,000& *1.5% 2,554
MATHEEZ 170,218,000& *3.2% 5,447
LI LEE= 5,166,000 *6.55% 339
201 Yet2 | 140,092 130,570 9,522
01 At 22l bl 89,280 83,658 5,622
OZE=230IS AME=S 29 30,920,000& 30,920
OdIXIEHAl 2 7,000,000& 7,000
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SA: BECAIDIEE
Hu: BECA XA
oot BEAY R4 CER-ED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OLHEZ30IE ZEJI02a3 BEHAUS
5,000,000& 5,000
OZdZ30tS S8HOIX |X 2=
1,000, 000& 1,000
OsE=2 M 5,000,000& 5,000
OZ2UNESH Z208 ZAE
30,0003 x3H x2 Al 2t*53| 12 10,800
OMEZZzOY F=RI2A =<
20,000 «2H x153|x12& 7,200
O=233 &Fdl X 500,000& =103l 5,000
OHSs0IE YRIL4Y
60,0003 x 1119 7,140
OZ&=23st0tS OtEN2 299 10,000, 000& 10,000
OH&Z3s0IE Z2eg=s AN =SFHI
220,000& 220
02 =224l 50,812 46,912 3,900
OAEE 28 21t= 43,188
&3
(110,0002 *17J1 A +3,000& 30 £ )« 12& 22,548
=523 160,000& * 1300 A 6 & 12,480
sStea 70,0003 404 A %12 3,360
hAre3 400,000« 10 128 4,800
ORoAH ==& 138,000 404 A+ 123 6,624
O==at&4 Fatx 4 1,000, 000& 1,000
203 YR T Y| 3,000 3,000 0
03 Al =X A2 =& 3,000 3,000 0
OZ& 230t =& 3,000,000& 3,000
301 L2 AF 9,800 8,540 1,260
09 HALAHIEA S 9,800 8,540 1,260
OOtE ot GHEAHSAIR) 2¢
20,0003 »4H 602! 4,800
O=stsd 24 24 500,000& =103l 5,000
401 Al 2 HIL 2T Y] 141,800 190,000 48,200
01 A& Hl 141,800 190,000 A48,200
OZ&d =230t AI8E S E= 23,800,000 23,800
OZ&EZsots =8 &X 100,000, 000& 100,000
OZ&d=2st0ts AMel=& = &X 18,000,000 18,000
ARTR 2UAA AAE Be 40,246 37,412 2,834
101 @14 Hl 23,926 23,372 554
04 JIZHHZ22XNHEE S 23,926 23,372 554
oxaesa 224 =2 23,926
oI A H| 65,6703« 1H 27U «128 21,278
I0AHz BES 21,278,000& *4.5% 958
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2AM: B2EZADIEC
MM HETA ZH
Sl BEMY B4 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
203 YR =&l 1,000 500 500
03 Al F=XH R =AH| 1,000 500 500
od=0tsetsIl =& 1,000, 000& 1,000
FRAY A2t 3,720 3,220 500
201 L4l 2,720 2,720 0
01 At 22l 2,000 2,000 0
OZd&ds 29 - 4= ME & 2,000,000 2,000
02 =24l 720 720 0
OMHH ZES(02 =2%) I3
60,000& x12& 720
203 ¥R =&l 1,000 500 500
03 A=A H =AY 1,000 500 500
O 4Y JR2FA 1,000, 000& 1,000
CAMESANL (FETAIDIEE) 1,065,000 1,418,000 A 353,000
X 532,500
AlHI 266,250
T Hl 266,250
401 Al HI R 201 I 1,065,000 1,418,000 A 353,000
X 532,500
AlHI 266,250
T Hl 266,250
01 A& HI 1,065,000 1,418,000 A 353,000
Ottths &= ARLUIE & =4
1,065,000, 000& 1,065,000
Xl 532,500
AlHI 266,250
T Hl 266,250
MENS(HAXSE MEHA HI)AL 1,600,000 1,285,700 314,300
Xl 1,111,000
AlHI 144,000
- Hl 345,000
201 ¢er24| 127,000 38,200 88,800
Xl 15,000
AlHI 56,000
T Hl 56,000
01 At 22l 127,000 38,200 88,800
OAMZFTEAS & NHE/As 29 4,000
-MEFEES 23 2,000,000& 2,000
AlHI 1,000
T Hl 1,000
AzAAS 39 &Y
100,000& »10H »23| 2,000
AlHI 1,000
T Hl 1,000
OsZ30 ., 0283 =2 X2 36,000
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SA: BEZADIEG
MM HETA ZH
el BEAY B4 CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
-&5Z30 ¢ 1,500,000 x1H x12& 18,000
Al HI 9,000
I 9,000
-tEEst =2 1,500,000 x1H x12& 18,000
AlHI 9,000
T Hl 9,000
OottsssHd XN 2208 23
87,000,000& 87,000
X 15,000
AlHI 36,000
T Hl 36,000
401 Al HIZ 201 1,473,000 1,247,500 225,500
Xl 1,096,000
AlHI 88,000
- Hl 289,000
01 A& HI 1,473,000 1,247,500 225,500
OF ARG Mt = 1,473,000, 000& 1,473,000
Xl 1,096,000
Al Hl 88,000
I 289,000
Y £ 22 Z2HE 9 200,000 0 200,000
401 Al HIZ 201 8] 200,000 0 200,000
01 A& HI 200,000 0 200,000
OMTHY ¢ 2l2 Z2HE 89
200,000, 000& 200,000
1EH2s ME0S At Y 20,000 0 20,000
401 A& HIZ 201 I 20,000 0 20,000
01 A& HI 20,000 0 20,000
OuFE28 MSOE MY =88Y
20,000, 000& 20,000
sUBE CIAe Jiol=etel 5,000 0 5,000
401 Al HIZ 201 I 5,000 0 5,000
01 A& HI 5,000 0 5,000
OsuUB4& CIXel JtolEetel i
5,000,000& 5,000
HE2AIH (R AIJIEH) 64,729 62,562 2,167
el 2l 50,705 48,874 1,831
ol 2| 50,705 48,874 1,831
101 @124l 50,705 48,874 1,831
02 JIEtE B = 50,705 48,874 1,831
O33C0IA LBrAIH(CHS) 50,705
A 38,265,960& x1H 38,266
CANZRAZ R 8,0743 x33Al 2+ x 12 3,198
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